Solution Math 201  Quiz 2

Q.1: Use completing square to identify the surface 4y + 22 — 2 — 16y — 4z + 20 = 0.
Sol: 4y?24+22—16y—42+20==z
4(y2—4y~|—4)—|— (22—4z—|—4) =z

4y—2°+ (-2 ==

v-2", -2 _=a
1 4 4
Elliptic Paraboloid.

Q.2: Identify the surface p? (sin2 © — 4 cos? gp) =1.
Sol: p?sin®@—4p’coslp=1 =12 —422=1 =22+ > —422 =1
This is a hyperboloid of one sheet
Q.3: Find and sketch the domain of the surface f (z,y) =y —zIn(z +y).

Sol: y—2>0 =>y>zandz+y>0 = x> —y

The domain is {(z,y) | —y < < y} . Graph of the domain is



